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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 29 gSaA  

Please make sure that the printed question paper are contains 29 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the questions, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

uksV %uksV %uksV %uksV %        (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

            All questions are compulsory.    

  (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

   Marks of each question are indicated in front of it. 

  (iii) iz'uksa ds mÙkj vadkuqlkj nsaA 

   Answer the questions according to their marks. 
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  1. 'kq) ty dh pH gksrh gS % 1 

 ¼v½ 6  ¼c½ 7 

 ¼l½ 8  ¼n½ 14 

 pH of pure water is : 

 (a) 6  (b) 7 

 (c) 8  (d) 14 

  2. dkSu-lh /kkrq izÑfr esa eqDr voLFkk esa ikbZ tkrh gS \ 1 

 ¼v½ lksuk  ¼c½ pk¡nh 

 ¼l½ IySfVue  ¼n½ lHkh  

 Which metal exists in free state in nature ? 

 (a) Gold  (b) Silver  

 (c) Platinum  (d) All  

  3. lksfM;e (Na) dh ijek.kq la[;k 11 gSA bldk KLM dks'kksa esa bysDVªkWu forj.k gksxk % 1 

 ¼v½ 2, 8, 1 ¼c½ 2, 9 

 ¼l½ 2, 7, 2 ¼n½ 3, 8 

 The atomic number of Sodium (Na) is 11. Its electronic distribution in 

KLM shells will be : 

 (a) 2, 8, 1 (b) 2, 9 

 (c) 2, 7, 2 (d) 3, 8 
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  4. ,Fksu dk vkf.od lw= C2H6 gS blesa fdrus lgla;kstd vkca/k gSa \  1 

 ¼v½ 6  ¼c½ 7 

 ¼l½ 8  ¼n½ 9 

 Ethane with molecular formula C2H6 has : 

 (a) 6 - covalent bonds  (b) 7 - covalent bonds 

 (c) 8 - covalent bonds (d) 9 - covalent bonds 

  5. mRÑ"V xSlksa dks vkorZ lkj.kh esa vyx lewg esa j[kk x;k]   D;ksafd % 1 

 ¼v½ cgqr vf/kd fØ;k'khy gSa 

 ¼c½ buds ckgjh dks'k iwjs Hkjs gq, ugha gSa 

 ¼l½ vfØ;k'khy gSa 

 ¼n½ vklkuh ls bysDVªkWu dk R;kx djrh gSa 

 Noble gases are placed in a separate group in periodic table because : 

 (a) More reactive  

  (b) Outermost shells are incompletely filled  

 (c) Very inert  

 (d) Lose their electrons more easily  

 6. fuEu esa ls dkSu-lk inkFkZ ySal cukus ds fy, iz;qDr ugha fd;k tk ldrk \ 1 

 ¼v½ feêh  ¼c½ ty 

 ¼l½ dk¡p  ¼n½ IykfLVd 
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 Which one of the following materials cannot be used to make a lens ? 

 (a) Clay (b) Water  

 (c) Glass (d) Plastic  

 7. fuEufyf[kr esa lcls vf/kd viorZukad dk ek/;e gS \  1 

 ¼v½ ghjk  ¼c½ dk¡p 

 ¼l½ ty  ¼n½ ok;q  

 Which of the following medium has highest refractive index ? 

 (a) Diamond  (b) Glass  

 (c) Water (d) Air  

  8. 'osr izdk'k dk blds vo;oh o.kksZa ¼jaxksa½ esa foHkktu dgykrk  gS %  1 

 ¼v½ fo{ksi.k  ¼c½ izdh.kZu  

 ¼l½ ijkorZu ¼n½ viorZu 

 The splitting of white light into its components colours is called : 

 (a) Dispersion  (b)  Scattering  

 (c) Refraction  (d) Reflection 
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  9. og dkSu-lk nks"k gS ftlesa O;fDr nwj dh oLrq rks Li"V ns[k ysrk gS ysfdu utnhd dh oLrqvksa 

dks lqLi"V ugha ns[k ikrk \ 1 

 ¼v½ fudV-n`f"V nks"k  

 ¼c½ tjk-nwj n`f"Vrk  

 ¼l½ nwj-n`f"V nks"k  

 ¼n½ mijksDr esa dksbZ ugha  

 In which eye defect, a man can see distant objects clearly, but can not 

see nearby objects distinctly ? 

 (a) Myopia (Near-sightedness) 

 (b) Presbyobia  

 (c) Hypermetropia (far-sightedness) 

 (d) None of the above  

10. fdlh pkyd dk izfrjks/k fdu dkjdksa ij fuHkZj djrk gS \  1 

 ¼v½ pkyd dh yEckbZ ij  
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 ¼c½ pkyd ds vuqizLFk dkV ds {ks=Qy ij 

 ¼l½ pkyd ds inkFkZ dh izÑfr ij 

 ¼n½ mijksDr lHkh ij 

 On what factors does the resistance of a conductor depend ? 

 (a) On its length  

 (b) On its area of cross-section  

 (c) On the nature of its material  

 (d) All of the above  

11. fo|qr /kkjk mRiUu djus dh ;qfDr dks dgrs gSa %  1 

 ¼v½ ,sehVj ¼c½ xSYosuksehVj 

 ¼l½ tfu= ¼n½ eksVj 

 The device used for producing electric current is called : 

 (a) Ammeter  (b) Galvanometer  

 (c) Generator  (d) Motor  

12. fuEu esa ls dkSu-lk ikni gkWeksZu gS \  1 

 ¼v½ balqfyu ¼c½ lkbVksdkbfuu  

 ¼l½ Fkk;jkWfDlu ¼n½ ,LVªkstu 

 Which one of the following a plant hormone ? 

 (a) Insulin (b) Cytokinins  
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 (c) Thyroxine  (d) Estrogen 

13. pkj foy;uksa A, B, C rFkk D dh tc lkoZf=d lwpd ls tk¡p dh tkrh gS rks pH ds eku 
Øe'k% 1, 11, 7 rFkk 9 izkIr gksrs gSaA dkSu-lk foy;u % 2 

 ¼v½ mnklhu gS \  

 ¼c½ izcy {kkjh; gS \ 

 ¼l½ izcy vEyh; gS \  

 ¼n½ nqcZy {kkjh; gS \  

 Four solutions A, B, C and D when tested with universal indicator 

showed pH as 1, 11, 7 and 9 respectively, which solution is :  

 (a) Neutral ?  

 (b) Strongly alkaline ? 

 (c) Strongly acidic ? 

 (d) Weakly alkaline ? 

14. dkj.k crkb, % 1 + 1 

 (a) IySfVue] lksuk ,oa pk¡nh dk mi;ksx vkHkw"k.k cukus ds fy, fd;k tkrk gSA  

 (b) lksfM;e] iksVSf'k;e ,oa yhfFk;e dks rsy ds vUnj laxzfgr fd;k tkrk gSA  

 Give reasons : 

 (a) Platinum, gold and silver are used to make jewellary. 
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 (b) Sodium, potassium and lithium are stored under oil.    

15. vk/kqfud vkorZ lkj.kh ,oa esUMsyhQ dh vkorZ lkj.kh esa rqyuk dhft, ¼dksbZ nksnksnksnks ½A 2 

 Write any two differences in Mendeleef's periodic table and modern 

periodic table. 

16. fdlh okgu dk ik'oZ@i'p n`'; ds fy, dkSu-lk niZ.k iz;ksx gksrk gS vkSj D;ksa \  2 

 Name the type of mirror used in side or rear-view mirror of a vehicle and 

why ? 

17. fdUgha nksnksnksnks pkyd inkFkksZa ds uke fyf[k,A  2 

 Write the name of the any two good conductor materials.  

18. vki dpjk fuiVku dh leL;k de djus esa D;k ;ksxnku dj ldrs gSa \ dksbZ nksnksnksnks rjhds 

fyf[k,A  2 

 How can you help in reducing the problem of waste disposal ? Write 

any two methods.  

19. /keuh rFkk f'kjk esa dksbZ nksnksnksnks vUrj fyf[k,A  2 
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 Write down any two differences between arteries and veins.  

20. dqN ikS/kksa dks mxkus ds fy, dkf;d izo/kZu dk mi;ksx D;ksa fd;k tkrk gS \  2 

 Why is vegetative propagation practised for growing some types of 

plants ?  

21. D;k ,d frryh vkSj pexknM+ ds ia[kksa dks letkr vax dgk tk ldrk gS \ D;ksa vkSj D;ksa 

ugha \  2 

 Can the wing of a butterfly and the wing of a bat be considered 

homologous organs ? Why or why not ? 

22. os dkSu-ls dkjd gSa tks ubZ Lih'kht ds mn~Hko esa lgk;d gSa \ 2 

 What factors could lead to the rise of a new species ?  

23. i;kZoj.k-fe= cuus ds fy, vki viuh vknrksa esa dkSu-ls ifjorZu yk ldrs gSa \ 2 

 What changes can you make in your habit to make environment 

friendly ? 

24. (i) Å"ek{ksih vfHkfØ;k D;k gksrh gS \ mnkgj.k nhft,A ¼jlk;fud vfHkfØ;k dh 

vko';drk ugha gSA½ 2 
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  Describe exothermic reaction with an example. (No chemical 

reaction required).  

 (ii) yksgs dh oLrqvksa ij ge isaV D;ksa djrs gSa \  2 

  Why do we apply paint on iron articles ?  

25. (i) dkcZu rFkk mlds ;kSfxdksa dk mi;ksx vf/kdrj vuqiz;ksxksa esa bZa/ku ds :i esa D;ksa fd;k 

tkrk gS \  2 

  Why are carbon and its compounds used as fuels for most 

applications ?  

 (ii) fuEu ijek.kqvksa esa fdl izdkj dk vkcU/k gksrk gS \  2 

  Name the type of bonds in following atoms : 

  (a) Oxygen (O2) 

   vkWDlhtu (O2) 

  (b) Nitrogen (N2) 

   ukbVªkstu (N2) 

26. (i) ?kjsyw fo|qr ifjiFkksa esa vfrHkkj.k ls cpko ds fy, D;k lko/kkfu;k¡ cjruh pkfg, \2 

  What precautions should be taken to avoid the overloading of 

domestic electric circuits ?  
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 (ii) fo|qr eksVj dk D;k fl)kUr gS rFkk fo|qr eksVj esa foHkDr foy; dk D;k dk;Z gS \

  2 

  What is the principle of an electric motor and what is the function 

of a splitring in an electric motor ?  

27. uohdj.kh; rFkk vuohdj.kh; ÅtkZ òksr D;k gksrs gSa \ mnkgj.k nhft,A  2 + 2 

 What are renewable and non-renewable energy sources ? Write their 

examples.  

28. (i) e/kqesg ds dqN jksfx;ksa dh fpfdRlk balqfyu dk batsD'ku nsdj D;ksa dh tkrh gS \  2 

  Why are some patients of diabetes treated by giving injection of 

insulin ?  

 (ii) ikni gkWeksZu D;k gSa \ dksbZ ,d,d,d,d mnkgj.k nhft,A  2 

  What are plant hormone ? Write any one example.  

29. (i) xHkZ-fujks/ku dh fdUgha rhurhurhurhu fof/k;ksa dk o.kZu dhft,A  3 

  Describe any three methods of contraception.  

 (ii) mPp laxfBr ikniksa esa ogu ra= ds ?kVd D;k gSa \ muds dk;Z fyf[k,A   

 3 

  What are the components of transport system in highly organized 

plants ? Write their functions.  
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vFkokvFkokvFkokvFkok    

OR 

 (i) Loiks"kh iks"k.k D;k gksrk gS \ blds  fy, vko';d  ifjfLFkfr;k¡ dkSu-lh gSa rFkk blds 

miksRikn D;k gS \  3 

  What is autotrophic nutrition ? What are necessary conditions for 

it and what are its by products ? 

 (ii) ;kSoukjaHk ds le; yM+fd;ksa esa dkSu&dkSu ls ifjorZu fn[kkbZ nsrs gSa \  

 3  

  What are the changes seen in girls at the time of puberty ? 

s 
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